o=

(17Z] NIABRERA=ARIAKEER

NIABRERO

v FIVNZABAR [DTAR)DT714200])
BTH: 1012 (K) ~10/13 (%)

15
15
15
15
15
15
15
15

45
45
45
45
45
45
45
45

L |

lwh] ARABE=IINERERO

ARGEEE

10
10
10
10
10
10
10
10
10
00
00
00

40
40
40
40
40
40
40
40
40
30
30
25



v RMIVKNABAR (DA MU DT710200])
EBTH:10/14 (1)

i

(155) )1IPERSE= ASAKEEE [I80) ASREREEE=)|PasRER]
8 15 45 9 10 40
9 15 45 10 10 40
10 15 45 11 10 40
11 15 45 12 10 40
12 15 45 13 10 40
13 15 45 14 10 40
14 15 45 15 10 40
15 15 45 16 10 40
17 10 40
18 00 30
19 00 30 55



o=

(17Z] NIABRERA=ARIAKEER

NIABREO

15
15
15
15
15
15
15
15

Y MVUNARRIR(DIA MNIF1>)]

ETH:10/15 (H)

45
45
45
45
45
45
45
45

[JE0] ARAEEE=/IIRERERO

ARGEEE

10
10
10
10
10
10
10
10
10
00
00

40
40
40
40
40
40
40
40
40
30
30

55



v MUNABZRAR[DIA NIT1>]
BTH: 1016 (B)

i

(17&] JIIRNERRO=ARIKEEE [JED] ARAEEEE=/IIRERERO
BT R
- 15 45 - 10 40
- 15 45 - 10 40
- 15 45 - 10 40
- 15 45 - 10 40
R



